QUESTIONS
1. A 10-year annual payment corporate bond has a market price of $1,050. It pays annual interest of $100 and its required rate of return is 9 percent. By how much is the bond mispriced?
Calculator Method:

N = 10

PMT = 100

I/Y = 9

FV = 1,000

Solve for PV which is $1064.18; Market value is underpriced by $14.18

2. A 12-year annual payment corporate bond has a market price of $925. It pays annual interest of $60 and its required rate of return is 7 percent. By how much is the bond mispriced?

Calculator Method:

N = 12

PMT = 60

I/Y = 7

FV = 1,000

Solve for PV which is $920.57; Market value is overpriced by $4.43.

3. An eight-year corporate bond has a 7 percent coupon rate. What should be the bond's price if the required return is 6 percent and the bond pays interest semiannually?
Calculator Method:

N = 16

PMT = 35

I/Y = 3

FV = 1,000

Solve for PV which is $1062.81.

4. A 15-year corporate bond pays $40 interest every six months. What is the bond's price if the bond's promised YTM is 5.5 percent?

Calculator Method:

N = 30

PMT = 40

I/Y = 2.75

FV = 1,000

Solve for PV which is $1,253.12.
5. A corporate bond has a coupon rate of 10 percent and a required return of 10 percent. This bond's price is   ……………………

Explanation:  When coupon rate = required return; price = par 

6. A 10-year annual payment corporate coupon bond has an expected return of 11 percent and a required return of 10 percent. The bond's market price is

less than its PV
7. An eight-year annual payment 7 percent coupon Treasury bond has a price of $1,075. The bond's annual E(r) must be
Calculator Method:

N = 8

PMT = 70

PV = −1,075

FV = 1,000

Solve for I/Y which is 5.80%.
8. A six-year annual payment corporate bond has a required return of 9.5 percent and an 8 percent coupon. Its market value is $20 over its PV. What is the bond's E(r)?
Calculator Method:

First find the Present Value of this bond.

N = 6

PMT = 80

I/Y = 9.5

FV = 1,000

Solve for PV which is 933.70.

The market value is 953.70, using this value solve for I/Y to find E(r).

PV = −953.70

PMT = 80

N = 6

FV = 1,000

Solve for I/Y to get 9.03%.

9. A bond has 8 years until maturity, a coupon rate %8, and sells for 1.100$ what is the yield to maturity?

Rate 

Nper: 8

Pmt: 80

PV: -1100

FV: 1000    =0.063  6.37%
10. A General Electric bond carries a coupon rate of %8, has 9 years until maturity, and sell at the a yield to maturity of 7%.
a. What interest payments do bondholders receive each year?

b. A what price does the bond sell? (assume annual interest payments)
c. What will happen to the bond price if the yield to maturity falls to 6%?
A. 1000*0.08= 80

B: PV





C: -1136

    RATE: 7%

    NPER: 9

    PMT: 80

    FV: 10000   = -1065  

11. A 30 year maturity bond with face value of 1.000$ makes annual coupon payments and has a coupon rate of 8%. What is the bond’s yield to maturity if the bond is selling for
a. 900$?

b. 1.000$?

c. 1.100$?

A. RATE 


B.
PV: -1000 OLURSA 8.00%

C.  
PV: -1100 OLURSA 7.18%

NPER: 30

PMT: 30

PV: -900

FV:1000   = 8.971%

12. Repeat previous problem assuming semiannual coupon payments.
NPER’İ *2, PMT/2  YAP SIRASIYLA SONUÇLAR: 4.483%, 4.000%, 3.592%

13. Fill in the table below for the following zero-coupon bonds. The face value of each bond is 1.000$. 
	Price
	Maturity (years)
	Yield to maturity

	$300
	30
	

	$300
	
	8%

	
	10
	10


RATE

NPER 30

PMT: --

PV -300

FV 1000     = 4.09%

B. NPER

RATE 8%

PMT: --

PV -300

FV 1000 = 15.6

C.  PV 

  RATE 10%

NPER 10

FV 1000  = 385 
14. A General Electric bond makes $70 coupon payments yearly; has 9 years to maturity, and sells at a yield to maturity of 8%. Hint: Face value is $1000.
a) What is bond’s coupon rate that bondholders earns each year?

=70/1000=7%

b)
At what price does the bond sell? Assume annual coupon (interest) payments.

=PV(0,08;9;70;1000)= -938 TL

15. Micro Spinoffs, Inc., issued 20 year bond a year ago at par value ($1000) with a coupon payment $80 paid annually. Today it is selling at $1050. What is the Yield to Maturity of the bond? 

=RATE(20;80;-1050;1000)= 7,51%
16. Suppose that a person deposits 10,000, - TL today and 5,000, - TL at the end of each year in a savings account for the next six years. And at the end of the sixth year in order to withdraw a total amount of 52,548, - TL. What the interest rate the bank has to pay compounded annually?  Ans. 8%
	Nper
	6

	Pmt
	-5000

	Pv
	-10000

	Fv
	52548

	Type
	


17. You want to buy a new car, but you can make an initial payment only $2000 and can afford monthly payments of at most $400. If the APR (nominal yearly interest rate) on auto loans is 18% and you finance the purchase over 60 months, What is the maximum price you can pay for the car?

=PV(18%/12;60;-400)= 15.752,11 TL

maximum price= 15.752,11 + 2000 =17.752,11
18. Suppose the interest rate is 12% per year, compounded quarterly. What is the minimum investment that has to be invested for a two year period in order to earn 534, - TL in interest?

FV= PV + I 

 PV+534 = PV*(1+12%/4)^8 

 PV=534/0,267 = 2000

19. A property will provide $10.000 a year forever. If its value is $125.000, what must be the discount rate?

r = 10000/125000 = 8%
20. Suppose that you invest 500 TL in a bank account with a yearly interest rate of 10% for 15 years period;
a. What is its Future Value by calculating Simple Interest Method?
FV (Simple) = 500 * (1+0,1*15) = 1250
b. What is its Future Value by calculating Compounding Method?
FV (Comp.) = 500 * (1+0,10)15 = 2088,62
c. What is the difference between future values of two methods?

FV (Comp.) - FV (Simple) = 838,62
21. Your landscaping company can lease a truck for $8000 a year (paid at year end) for 6 years. If the interest rate your company can earn on its funds is 7%. What is the present value of lease payments?

=PV(7%;6;8000)= $ 38.132,32 TL
22. Favorita Candy’s stock is expected to earn $2.40 per share this year. Its P/E ratio is 18. What is the stock price?





	Input variables:
	 

	EPS
	$2,40

	P/E Ratio
	18

	
	 

	 
	 

	
	

	Solution and Explanation:
	

	Price
	(2.40*18)=$43,20


23. BMM Industries pays a dividend of $2 per quarter. The dividend yield on its stock is reported at 4.8%. What price is the stock selling at? 






	Input variables:
	 

	Quarterly dividend
	$2,00

	# of quarters per year
	4

	Dividend yield
	4,80%

	
	

	 
	 

	
	

	Solution and Explanation:
	

	Price
	(2.00*4/4.80)=$166,67


24. Steady As She Goes Inc., will pay a year-end dividend 0f $3 per share. Investors expect the dividend to grow at a rate 6% indefinitely.

a) If the stocks currently sells for $30 per share, what is the expected rate of return on the stock?

Expected Rate of Return = (3/30) + 6% = 16%
b) If the expected rate of return on the stock is 16%, what is the stock price?

16% = (3/Po) + 6% >>>> Po = $30
25.   You believe that the Non-stick Gum Factory will pay a dividend of $4 on its common stock next year. Thereafter, you expect dividends to grow at a rate of 6% a year in perpetuity. If you require a return of 12% on your investment How much should you be prepared to pay for the stock?

r = (Div1/Po) + g  
12% = 4/Po + 6%

Po = 4/6% >>> $66,66 

